207h—Y25 F&E)—45 (1a—bk~3a—F})

B BHO0=23m. 51N TA=> 15, AlTX=04

207h—Y285 FE)—S (4a—Fk~63—Fh)

RECBHEO=3R. 5120 ITA=>1R, AlF X =01

[ 1a—F ] [ 43—+ ]
NO F—L4A ZE)FEA HEHETETAS| L 5 HIXEB FI\RA [(BbE| B8 | &8 |§ka| B NO F— L4 #FhEFB L 5MIEFA | EHAF—LA BINEB  (Bba| 88 | &8 [BkAa] B
1 ) TEA X X X 0 3 17 -14 4 13 BB X X X 6 -15 -9 4
o — 112 — 3 1 — 3 3 — 4 o — 17 3 — 4
2 HEHETETHNS @) @) @) 9 23 4 19 1 14 L 5 (XFEA @) @) X 6 12 8 4 2
1 — 0 5 — 3 17 — 1 4 — 3 6 — 0 2 — 5

3 L 5 IXEB @) X @) 6 10 10 0 2 15 ESAF—L O X O 6 12 6 6 1
3 — 2 3 — 5 4 — 3 7 — 0 0O — 6 5 — 0

4 F/\XA O X X 3 7 12 -5 3 16 &) 7B O O X 6 9 10 1 3
3 - 1 1 — 1] 3 — 4 4 - 3 5 — 2 0 — 5

[ 2a—F ] [ 5a—F ]

NO F— L4 BASGHIBTINSA| F—LMEAK | WEMATASB| #HEFHFA |BHBba| 85 | £5 |Bka| ER NO F— L4 JIiaB LoMIEFEB | BOH=B | NERBTNEA b a| 55 | &8 |BLm]| IBA

5 BAEFHIET N A X X O 3 5 13 -8 4 17 e O @) @) 9 14 6 8 1

1 — 6 1 — 6 3 - 1 5 — 2 4 — 3 5 — 1

6 F—LMERKR @) @) @) 9 13 4 9 1 18 L 5H(XFEB X X @) 3 12 10 2 3
6 — 1 4 — 1 3 - 2 2 — 5 2 — 5 8 — 0

7 WERTETAEB @) X X 3 11 10 1 2 19 BoDOH=3B X @) O 6 11 8 3 2
6 — 1 1 — 4 4 — 5 3 — 4 5 — 2 3 - 2

8 e EFA X X O 3 8 10 -2 3 20 MERTRTA A X X X 0 3 16 -13 4
1 — 3 2 - 3 5 — 4 1 — 5 0O — 8 2 - 3

[ 3a—F ] [ 6a—F ]

NO F— L4 % /\XB L o5MIEEA | FFIRTASB |BHFHETNSB|B LS| B4 | &8 |[Hxa]| IEA NO F—L% SPETNEA | EHBF— L JIBA HOHE=XA |Bba| B84 | &5 [§xAa]| EA

9 % /\XB X X X 0 6 13 -1 4 21 EFRTAEA O X X 3 8 14 -6 4

1 — 3 2 — 5 3 — 5 6 — 1 2 — 6 o — 17

10 L 5hIEEA O O O 9 12 5 7 1 22 EHBF—L X O O 6 8 9 -1 2
3 - 1 5 — 2 4 - 2 1 — 6 3 - 2 4 — 1

11 EFETN =B @) X A 4 10 10 0 3 23 JIIBA O X O 6 13 6 7 1
5 — 2 2 — 5 3 — 3 6 — 2 2 — 3 5 — 1

12 B EFHIET N B O X A 4 10 10 0 2 24 B®H=5A O X X 3 9 9 0 3
5 — 3 2 — 4 3 — 3 7 — 0 1 — 4 1 — 5




